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&ichita State Office Bldg. + PLUGGING SECTION - E/2 NE , SEC._ 35 .. T 32 3, R 38 w /%
%1308 Market, Room 2078 | - : 3902 )
Wichita, KS §7202 }I feet fram S zection (a4
TECHMICIAH'S PLUGGIRG REPORT '9" 660 tset fram E 3actlon |ine
) . -
Qperatar LI:onj‘.a F 5003 Lease Hanma Mobil WRD #2 Hall 1/ 1-35
Oparatar: McCoy Petroleum Corporation Caunty Stevens
Haxed
Addrass 3017 N. Cypress _ .'Yeil Total Depth . 6490 g‘lo‘qf}ea?
Wichita, KS 67226-4003 Coaductor Plpe: Sizs taat
. Surtacs Caszlag: Siza 8 5/8 faot 1768
Abandcaad Gl! Wall X Gas Wal | X __ laput Wall ' SXD el  paa

Qthar wall as herelnafter Indicatad
- J.W. Gibson Well Service -’

Plugglng Contractor

Licansa Nuabar 5866
Address P.0. Box 466, Ulysses, KS 5

.Caompany to plug at: Hour: 4 D.m. Day: 21 Hanth: . 12 Tear: 19 95

Plugging progesal racalved froa Tim Hintergardt

(Colﬁdf“f anzma) . J.W. Gibson WellVService (phcﬂﬂ) 316 353 1002

wara: ° 5%" at 6193' w/670 sx cement, 2nd stage 510 sx cement, PBTD 61557,
Perfs at 6043-59, 6062—1@1 6012-17, 6020-25"
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U GAFURATION [
lst plug set CIBP at 5970' and dump 2 sx cement on top, " COMMissIon
2nd plug at 1800" with 50 sx cement, 3rd plug at 700" with 40 sx cemer{r'il-;b VT '75/2‘ 27 /?7-»5-
4th plug at 40! with 10 sx cement. CONSERVATION DIViSion
- Wch ia l('tnp.
Plugglang Propoaa! Racslved by = . Richard LaCey
: " (TECHNICIAN)
.Flzugglng Opuraﬂonsl attandad by Agent?: Al Part X Haona
Oparatlons Campletad: Hour: 8 p.m. Day: ) 21 Hoath: 12 Yaar:19 95

ACTUAL PLUGGING REPORT  lst plug set CIBP at 5970' with 2 sx cement on top,

2nd plug shot at 1993' and pulled to 1800', set 40.sx plug,

3rd plug pulled to 700" and set a 40 -sx plug.,

4th plug at 40-0' with 10 sx cement.

Ramarks: Used common cement by Gibson. Recovered 1993' of 5%" casing.

(lt nddltlonal deszsripti{on |3 nec=asary, usae BACX et Thiz torma.)
E N %ﬁ @ﬂ ﬂ@%) obsarve thlax plugging.
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